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Answers to Mock Final #2, the first mock final we took in class.

(a) The top of a hill rises 160 feet above Checkpoint 3.

What is the altitude of the top of the hill?
—17 1t

(by How much lower is Checkpoint 2 than
Checkpoint 57

74 ft lower

slope: —
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v-intercept: 4
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(a) What was the greatest number of orders in a month?

3350 orders

(b) When did the number of orders have the greatest decrease?

May to June
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y=4

4y’ =5

L
(r=2)(y+9)

$19.50

vertical line: x=—23
horizontal line: y=-—1
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42v+28y—30
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146 adult tickets

V 4+ 12v+36
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One possible answer is (x,y) = (6, O)
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